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Ⓒ  

13)  Question:   Find the value o f 
1

{[
1

𝑝 +10

] + [
1

𝑝 +20

]} 

13) Question:   Find the value of 
1

1

𝑝+10
+

1

𝑝+20

 

A) 
2𝑝+30

𝑝2+30𝑝+200
        Change   ? 

B) 
   𝑝2+30𝑝+200

2𝑝+30
 

C) 2𝑝 + 30 
D) 𝑝2 + 30𝑝 + 200 
 
For speed, while solving something similar, only THINK the words in blue; WRITE only the words in other COLORS. 
 
Solution: 

Given  1) 
1

𝑓𝑟𝑎𝑡𝑖𝑜𝑛1+𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛2
 

Road Map of Solution: 
First,   Simplify just the denominator by itself.  i.e. Find the value of (fraction1+fraction2) 
Second,  Substitute the denominator in the original expression.  Then, find its value. 
 
First,   Simplify the denominator by itself.  

   
1

𝑝+10
 + 

1

𝑝+20
 

=   
1

𝑝+10
     +  

1

𝑝+20
 

=   
1

(𝑝+10)
×

1

1
   + 

1

(𝑝+20)
 ×

1

1
 

=   
1

(𝑝+10)
×

(𝑝+20)

(𝑝+20)
 + 

1

(𝑝+20)
 ×

(𝑝+10)

(𝑝+10)
 

=   
      1      ×(𝑝+20)

(𝑝+10)×(𝑝+20)
 + 

      1      ×(𝑝+10)

(𝑝+20)×(𝑝+10)
 

=   
                 (𝑝+20)

(𝑝+10)×(𝑝+20)
 + 

                  (𝑝+10)

(𝑝+20)×(𝑝+10)
 

=   
                 (𝑝+20)

(𝑝+10)×(𝑝+20)
 + 

                  (𝑝+10)

(𝑝+10)×(𝑝+20)
 

=   
                 (𝑝+20)  +                    (𝑝+10)

(𝑝+10)×(𝑝+20)                                       
 

=   
                   𝑝+20    +                      𝑝+10 

(𝑝+10)×(𝑝+20)                                       
 

=   
             2𝑝+30

(𝑝+10)×(𝑝+20) 
 

=   
             2𝑝+30

[(𝑝+10)×(𝑝)]+[(𝑝+10)×(20)]
 

=   
             2𝑝+30

[(𝑝2+10𝑝)]+[(20𝑝+200)]
 

=   
             2𝑝+30

   𝑝2+10𝑝    +   20𝑝+200
 

=   
             2𝑝+30

   𝑝2+30𝑝                  +200
 

 

So,    
1

𝑝+10
+

1

𝑝+20
 =   

2𝑝+30

   𝑝2+30𝑝+200
   . . . . . . . .  Answer(A) 
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Therefore, 

    
1

(
1

𝑝+10
+

1

𝑝+20
)
  = 

1

(
2𝑝+30

   𝑝2+30𝑝+200
)
 

 

   
1

(
1

𝑝+10
+

1

𝑝+20
)
  = 

   𝑝2+30𝑝+200

2𝑝+30
  . . . . . . . . . . . . . . . . . . . . . . . . . . .   Answer () 
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